
S
P

A
R

E
 P

A
R

TS
 L

IS
T  |

 V
A

N
TA

G
E

 S
W

IN
G

 G
A

TE
 O

P
E

R
A

TO
R

S
 

Fast 

Safe 

Secure 

PLEASE CONTACT US FOR PRICING ON THESE ITEMS 

CALL +64 (07) 3205 1123 OR EMAIL US INFO@ROTECH.COM.AU 

SPARE PARTS LIST|Vantage Swing Gate Openers 



    For more information:  t: +61 07 3205 1123  |  www.rotech.com.au  |  e: info@rotech.com.au V0524 

Stock Code Description 

Vant-1 1. Vantage Bottom Casting  

Vant-10 10. 8x Screw Torx Taptite M6 X 25 SS  

Vant-11 11. Vantage Piston Assembly (400 – SS)  

Vant-12 12. Vantage Worm Shaft (400)  

Vant-13 13. Vert-X Worm Coupling – Base  

Vant-14 14. Vert-X Worm Coupling – Top  

Vant-15 15. Bearing 6205-2RS1 (25x52x15)  

Vant-16 16. 2x Vert-X Bearing Retainer  

Vant-17 17. Vert-X Worm Coupling Spring Clamp  

Vant-18 18. Vantage Origin Body  

Vant-19 19. Hex cap screw MS x 25 SS  

Vant-2 2. Vantage Top Casting Centurion  

Vant-20 20. Barrel Nut (SS) 08×12 x M5x0.8  

Vant-21 21. Vantage Piston Scraper  

Vant-22 22. Vantage Piston Support Ring  

Vant-23 23. Wear Ring  

Vant-24 24. 2x Vert-X Rear Motor Support  

Vant-25 25. Vert-X Front Bearing Seal  

Vant-26 26. Vantage Rear Cavity Seal  

Vant-27 27. Vert-X Camlock Foam Seal  

Vant-3 3. Vantage Badge  

Vant-33 33. Vantage Packaging Box  

Vant-34 34. Vantage Polystyrene Packaging KIT 

Vant-35 35. 2x Label Warning Moving Gate 80X50mm STD  

Vant-36 36. VERT-X / Vantage Installation Manual L V1  

Vant-37 37. Lable Warning Vantage Harness  

250021 38. D5V5 MAG Switch Assy V1-Blue Housing 

Vant-38 38. Mini Grip Plastic Bag 65 x 80  

Vant-39 39. Gearbox Housing (Top & Btm)  

Vant-4 4. Vantage Harness – Low Speed  

Vant-40 40. 3x Vert-X Ring Gear (Low Speed)  

Vant-41 41. Vert – X Output Coupler (Low Speed)  

Vant-42 42. 9x Vert-X Planet Gear (Low Speed)  

Vant-43 43. Vert-X Planet Carrier & DOSS Wheel (LS)  

Vant-44 44. Gearbox Shield & Motor Flange (LS)  

Vant-45 45. Vert-X / Vantage DOSS PCB  

Vant-46 46. 3x Vert-X Fling Shield (Low Speed)  

Vant-47 47. Screw Torx Taptite M4.2 X 8  



Rotech supply all forms of door and gate automation 

Vehicle Access Control 

◼ Booms Gates 

◼ Sliding Gates 

◼ Swing Gates 

◼ Industrial Door Openers 

◼ Solar Powered Gate Openers 

Pedestrian Access Control 

◼ Full Height Turnstiles 

◼ Waist Height Turnstiles 

◼ Supermarket Gates/Turnstiles 

◼ Wheelchair Access Gates 

◼ Rapid Access Gates 

Rotech supply all forms of door and gate automation 

    For more information:  t: +61 07 3205 1123  |  www.rotech.com.au  |  e: info@rotech.com.au V0924 

Stock Code Description 

Vant-48 48. Dia 3 x 20 Dowel pin  

Vant-49 49. Vector Brake Assy V2  

Vant-5 5. Vantage Hinged Rear Cover 

Vant-50 50. Release Detent (E-ring) V2  

Vant-51 51. E-Ring 6mm (SS GR304)  

Vant-52 52. Vert-X Release Drive  

Vant-53 53. Vert-X Release & Brake Housing  

Vant-54 54. Vector Release Spring V2 (with tips)  

Vant-55 55. Vert-X Spacer Pin  

Vant-56 56. Vert-X / Vantage Linear Motor (Low Speed)  

Vant-8 8. Vantage Body Extrusion – (400)  

Vant-9 9. Vantage Outer Tube End  

25004 CP3. CP84XTE Power Supply 


